é @ @A @ =) Vereinfachende Polynome
Name: Datum: Ergebnis:
3(2x+ 9x2) +3x— 8x° + 5x° 8x — 5x° +5x¢° + 3(8x+ 9x2)

X+ 6x— 4(5x3 — xz) - X Sx— 5¢° + 4x — 309x + 6x2)

2(6x3 + 6x) + 7> + 2x + 5x 3x — 6x% + 3x7 + 6x — 6x

3(2)63 — 5x2) + 5% + dx + 3x 4(5x + 3x2) + 7 — & +3x°

26 — 4% — 9% + 8¢ + 2x? 33x° + 4x°) — 8% + 8¢ — 2x°
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Vereinfachende Polynome

Name:

3(2x + 9x%) + 3x — 8% + 5x°
5¢° + 19x% + 9x

X+ 6x—45x — ) —x
—20x> + 5% + 5x

2(6x° + 6x) + 7 + 2x + 5x
19x° + 19x

320 — 5x%) + 5x° + dx + 3x
12 — 152 + 7x

20 — 4o — 9 + 8 + 22
—3x° + 2x%

Datum: Ergebnis:

8x — 5x° + 5x° + 3(8x+ 9x?)
27x% + 32x

5x— 5% +4x— 309x + 6x7)
—5x> — 18x* — 18x

3x — 6x% + 3x° + 6x — 6x
—3x% + 3x

4(5x + 3x? )+ 7 — 8 +3x?
—3 + 15X + 20x

33x° + 4x) — 8% + 8¢ — 2
27x° — 8x*
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